
m(`2`3) (GeV) <4 >4
∆2D (cm) <0.5 0.5–1.5 1.5–4 >4 <0.5 >0.5
eee 0.000 ± 0.002 0.22 ± 0.02 0.69 ± 0.06 1.2 ± 0.1 0 0

HNL2 e±e∓µ± 0.013 ± 0.002 0.43 ± 0.03 1.3 ± 0.1 2.7 ± 0.3 0 0
e±e±µ∓ 0.013 ± 0.002 0.41 ± 0.03 1.3 ± 0.1 2.7 ± 0.3 0 0
eee 0 0.048 ± 0.004 0.096 ± 0.008 0.18 ± 0.01 0.000 ± 0.001 0.19 ± 0.01

HNL6 e±e∓µ± 0.014 ± 0.001 0.078 ± 0.005 0.17 ± 0.01 0.28 ± 0.02 0.000 ± 0.001 0.23 ± 0.02
e±e±µ∓ 0.017 ± 0.002 0.086 ± 0.006 0.19 ± 0.01 0.30 ± 0.03 0.011 ± 0.001 0.26 ± 0.02
eee 0.036 ± 0.007 0.07 ± 0.02 0.00 ± 0.01 0 0.58 ± 0.04 0.53 ± 0.06

HNL12 e±e∓µ± 0.05 ± 0.01 0.08 ± 0.02 0.00 ± 0.01 0 0.66 ± 0.05 0.60 ± 0.06
e±e±µ∓ 0.06 ± 0.01 0.10 ± 0.02 0.000 ± 0.001 0 0.68 ± 0.05 0.51 ± 0.05


